JL_

Multiplikation (Internationale Art) Name:
L 6se jede Aufgabe. Antworten
) 29310 2 81092 3 78370 .
2.
3.
4.
5.
4 15343 5 924.95 6) 25658 .
7.
8.
9.
10.
) 46982 8 84364 9 50341 .
12.
10) 636+54 11) 24.188 12) 933.19
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Mathe ] www.CommonCoreSheets.de 4 111121 8] 0




=

Multiplikation (Internationale Art) Name: L Osungsschliussel
L 6se jede Aufgabe. Antworten
) 29310 2 81092 3 78370 . 8.990
87 7290 5481 ' '
29 1620 0 » 74520
0 74520 54810
8990 3 54.810
4 6.579
s 87.780
4 15343 5 924.95 6) 25658 . 14.848
612 8316 1280 '
459 4620 2048 - 38.458
6579 87780 14848
8. 30.576
9 17.050
0. 34.344
) 46982 8 84364 9 50341 W 4512
3752 252 150 '
938 504 200 w  17.727
38458 336 50
30576 17050
10) 636+54 11) 24.188 12) 933.19
3180 2 4 933
2544 192 8397
34344 192 17727
4512
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Mathe ] www.CommonCoreSheets.de 4 111121 8] 0




JL_

Multiplikation (Internationale Art) Name:
L 6se jede Aufgabe. Antworten
74.520 30.576 14.848 17.050
38.458 4.512 87.780 34.344 1.
6.579 8.990 54.810 17.727
2.
) 29310 2) 810+92 3 78370
3.
4.
5.
6.
4 15343 9 92495 6) 256« 58 7.
8.
9.
10.
11.
) 46982 8 84364 9 50341

10) 63654

11) 24188

12) 93319

12.

Geandert

[ Mathe ] www.CommonCoreSheets.de

4 1-10 | 92
11-12| 8

75]67]58|50(42]|33]25] 17|
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